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Addition -4

1. A garden has 475 grapes trees, 764 apple trees and 270 orange trees. How many total tree are
present in the garden?

a) 1590 b) 1509

c) 1059 d) None of these
2.12+12+12+12= X

a) 8and4 b) 12 and 2

c) 12 and 4 d) None of these

3. In the year 2016, there were 6580 students in a school. In the next year, 1272 students took
admission in the school. How many students were there in the school in total?

a) 7825 b) 7852
c) 8752 d) None of these

4. The air fare from Kolkata to London is Rs. 35826. The air fare from London to Philadelphia is Rs.
15732. What is the total air fare from Kolkata to Philadelphia?

a) Rs. 55158 b) Rs. 61558

c) Rs. 51585 d) Rs. 51558

5. 1f 6879, 8798 and 6805 are rounded to the nearest hundred and then added. What will be the total?
a) 22500 b) 21500

c) 22400 d) None of these

6. When 4570 is added to 7580, then the result will be

a) 12250 b) 12150

c) 11150 d) 13150

7. What is the value of A, Band C?

356 A6
+2 3948
59C93
a) A=3,B=7,C=5 b) A=4,B=5,C=7
c) A=4,B=7,C=5 d) None of these
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8. 6 tens + 5 ones + 6 hundreds =
a) 656 b) 565
c) 655 d) 665

9. In the first floor of a library there are 126728 books. In the second floor there are 3754 books more
than the first floor. How many books are there in the library?

a) 252710 b) 257210
c) 275210 d) 257021

10. There are 267136 forks, 501243 spoons and 789241 knives made in a factory. How many cutleries
are made in total?

a) 1575620 b) 1457620

c) 1557620 d) None of these
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